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1a) L = (1,000 ± 0,001) m  

  b) C = (1,4 ± 0,5) mF 

  c) L = (0,96 ± 0,04) m  

  d) R = (85000±30)kΩ   of   R=(8,500 ±0,003).106 Ω   of  R=(8,500 ±0,003) MΩ 
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= 0,058   →   ∆𝑃 = 0,058 𝑃  

 𝑃 = 𝐼2𝑅 = 0,342∙ 47 = 5,4332 𝑊     

∆𝑃 = 0,058 𝑃 = 0,058 ∙ 5,4332 = 0,315 ≈ 0,4 𝑊 

𝑃 = (5,4 ± 0,4) 𝑊 
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𝜎 = √𝑥2̅̅ ̅ − 𝑥̅2  =  √
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4a) 𝑔1̅̅ ̅ =
9,83+9,78+9,80+9,86+9,79

5
= 9,812 𝑚𝑠−2 

  b) 𝑠𝑔 = √
∑(𝑔𝑖−𝑔̅)2

𝑁(𝑁−1)
= √

0,0182+0,0322+0,0122+0,0482+0.0222

5∙4
= 0,0146 ≈ 0,02 𝑚𝑠−2   

→ 𝑔 = (9,81 ± 0,02) 𝑚𝑠−2  

  c)  𝑔1 = (9,81 ± 0,02) 𝑚𝑠−2   𝑔2 = (9,78 ± 0,06) 𝑚𝑠−2  

𝑤1 =
1

(0,02)2 = 2500  ;   𝑤2 =
1

(0,06)2 = 278   ; 



        𝑔̅ =
𝑤1𝑔1+𝑤2𝑔2

𝑤1+𝑤2
=

2500∙9,81+278∙9,78

2500+278
= 9,807 𝑚𝑠−2  

  d) 𝑠𝑔̅ = √
1

𝑤1+𝑤2
= √

1

2778
= √0,00036 = 0,01897 ≈ 0,02 𝑚𝑠−2 

 →    𝑔 = (9,81 ± 0,02)𝑚𝑠−2 

 

5a) 𝑎 =
𝑥𝑦̅̅̅̅ −𝑥̅ 𝑦̅

𝑥2 ̅̅ ̅̅   − 𝑥̅2  𝑏 = 𝑦̅ −  𝑎𝑥̅ 

  

𝑥𝑖 𝑦𝑖  𝑥𝑖𝑦𝑖  𝑥𝑖
2 

1 1 1 1 

2 2 4 4 

3 4 12 9 

4 5 20 16 

5 6 30 25 

𝑥̅ = 3 𝑦̅ = 3,6 𝑥𝑦̅̅ ̅ = 13,4 𝑥2̅̅ ̅ = 11 
 

 →     𝑎 =
13,4 −3∙3,6

11−9
=

2,6

2
= 1,3                 𝑏 = 3,6 − 1,3 ∙ 3 = − 0,3 

 

 b)  

𝑥𝑖 𝑦𝑖  𝐷𝑖 = 𝑦𝑖 − 𝑎𝑥𝑖 − 𝑏 𝐷𝑖
2 

1 1 0 0 

2 2 -0,3 0,09 

3 4 0,2 0,04 

4 5 0,1 0,01 

5 6 -0,2 0,04 
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2 = 0,18 
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= 0,066  →   𝜎𝑏 = 0,257 ≈ 0,3  

 

→     𝑎 = 1,3 ± 0,1     𝑒𝑛    𝑏 =  −0,3 ± 0,3 


